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o Addisjon opptil 100 (horisontalt)
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StudentName: ____ ExamDate: ____ ExamScore: ___
11+22 = 23 +57 =
12+48 = 43 +69 =
19 +21 = 31 +4 =
54 + 46 = 21 +65=
34+ 28 = 4+25=
98 + 57 = 50 +47 =
51+62 = 17+19 =
76+ 15 = 76+ 7 =
39 +23 = 57 +81 =
63 +59 = 99 + 84 =
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T Addisjon opptil 100 (horisontalt)
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StudentName: __ ExamDate: _ ExamScore:
11+22 =33 23 +57 =80
12 +48 = 60 43+69 =112
19 +21 =40 31+4=35
54 +46 = 100 21 +65 =86
34 +28 =062 4+25=129
98 +57 = 155 50+47=97
SI+62=113 17+ 19 =36
76 +15 =91 76 +7 =83
39 +23 =062 57+ 81 =138
63 +59 =122 99 +84 = 183
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